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In the circuit diagram shown below,
ammeter A, reads 10 amperes.

What is the reading of ammeter A,?
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A balloon is rubbed against a student’s hair and
then touched to a wall. The balloon “sticks” to
the wall due to
B electrostatic forces hetween the \J
particissoi e battoom \
B| maghelicRarees belweent
sithe watt A
[ ¢ folces betwagn tHe Barticles of
ingl the partigles df the W
0 tes batween the pajticles-of the
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e The resistance of a 60-watt light bulb

operated at 120 volts is approximately
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An immersion heater has a resistance of
5.0 ohms while drawing a current of 3.0
amperes. How much electrical energy is
delivered to the heater durina 200 seconds
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the resistor is

>

0.152 mA

5.2 mA

355-MA
™y

0.6 vl

e How-i idiridal_criergy ig required-te
move a 4{0-mic o coulomb charge through
a potential difference of 36.0 volts?

A 9.00x 106 J
B 144

C 1.44x10%J
D 1.11x107J

and equal cross-sectional areas of
2.5 x 10 meter? are at 20°C. Which wire
has the greatest electrical resistance?

per.

What musi belinsdrted|betwBen points A
and B'to establish a steady electric current
in the incomplete circuit represented in the

diagram below?
: A B
A switch
B voltmeter R
C magnetic field AN
source

D source of potential difference
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A balloon is rubbed against a student’s hair and
then touched to a wall. The balloon “sticks” to
the wall due to

B electrostatic forces hetween the \J
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In the circuit diagram shown below,
ammeter A, reads 10 amperes.

What is the reading of ammeter A,?
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The resistance of a 60-watt light bulb
operated at 120 volts is approximately
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An immersion heater has a resistance of
5.0 ohms while drawing a current of 3.0
amperes. How much electrical energy is
delivered to the heater durina 200 seconds
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the resistor is

0.152 mA
i5.2 mA

355-MA
MA

>

0.6 vl

How-i idiridal_criergy ig required-te
move a 4{0-mic o coulomb charge through
a potential difference of 36.0 volts?

A 9.00 x 105 J @
B 144

C 1.44x104J

D 1.1 x 107 4

and equal cross-sectional areas of
2.5 x 10°¢ meter? are at 20°C. Which wire

has the greatest electrical resistance? @
B copper.

C|gold

D nichrome

What musi belinsdrted|betwBen points A
and B'to establish a steady electric current
in the incomplete circuit represented in the

diagram below?
: A B
A switch @
B voltmeter R
C magnetic field AN
source

D source of potential difference
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